Name Date

[ Measure the length Word Problems Guided Lesson Explanation ]

Explanation to #1
Step 1) First we have to see what we have to find out:
“What is the length of the child?”

Step 2) We calculate the length of the child. It is given that 1 square = 1
foot. One foot means 12 inches and 0.3048 meter.

Step 3) Draw a line from the start to the end of the image to the
corresponding square.

Count the squares between the two lines.

As you see, the length of the child is 7 squares or 7 feet.

Explanation to #2
Step 1) it is clear that they want to know the length of the candy without errors.

Step 2a) It is given that 1 square = 1 cm.

Draw a line from the start to the end of the image to the corresponding
square.
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Count the squares between the two lines.

The length of the candy is 12 squares or 12 centimeters.

Explanation to #3
Step 1) First we have to see what we have to find out
“What is the length of the wood piece?”

Step 2) So we calculate the length of the wood piece. It is given that 1
square = 1 yard.

Step 3) Draw a line from the start to the end of the image to the
corresponding square.

Count the squares between the two lines.

The length of the wood piece is 13 squares or 13 yards.
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